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BER(FBR)=ARED | mxE@EE Lol BAI ,200 60% 1,100 45E B 100 60% 0,900
[JL103 700 | 54% 2,200, E:11,200 458 400 | 55% 2,000 F:11.100
700 | 50% 3,200, H:12,300 458 500 | 50%
800 | 45% +£:14,900, B:12,300 458 500 | 46%
700 | 50% +£:13,800, 6:12,300 458 500 | 50%
700 | 50% 800, +:13,300. H:12,300 458 500 | 50%
700 | 50% 200, £ H:12,300 458 500 | 50%
700 | 54% 200, £:11,200. H:12,300 458 400 | 55%
700 | 54% 2,200, %:11,200. B:12:300 458 400 | 55%
800 | 5% 00, H:13,300 458 500 | 46%
800 | 5% 400, £:11,200. H:13,300 458 500 | 46%
) 800 | 5% 400, £:11,200. H:14900 458 500 | 46%
[JL133 800 | 5% 400, £:11,200. H:14900 458 500 | 46%
137 800 | 45% | A% 15400, T:11.200. H:14900 458 500 | 46%
139 800 | 45% | A:15.400, £:14.700. 111,200, H:14900 458 500 | 46%
KR (D& L 200 | _48% 455 000 | _48%
L 800 | 5% 455 500 | 46%
L 900 | 41% 400, £:11,700. H:11,200 455 700 | _42%
L 900 | 41% 00, £:12.700. H:11,200 455 700 | _42%
L 700 | 50% 200 455 500 | 50%
L 700 | 50% |H:11,.200 455 500 | 50%
L 700 | 54% 700, H:11,200 455 400 | 55%
L 700 | 54% 200, 6:11,800 455 400 | 55%
L 200 | 56% 800 455 000 | 56%
L 700 | 54% 200, B:11,800 455 400 | 55%
L 700 | 54% 200, F1:14,400 455 400 | 55%
L 700 | 54% 300, £:11,200. H:14400 455 400 | 55%
L 800 | 45% 514,900 455 500 | 46%
L134 800 | 5% £:11,200. 5:14,900 455 500 | 46%
L138 800 | 45% +:11,200, B:12,700 455 500 | 46%
RFR(HE)=KKR(BAE) | ®FE(GIHE) S L221 ,000 56% H:9.900 458 .500 58%
[JL225 800 | 57% 0 455 300 | 59%
[229 800 | 57% _£:10,600. H:12,100 455 300 | 59%
ENACEIES 1220 200 | 67% 455 700 | 69%
[ Jr224 700 | 58% 11,700, £:10,600 455 200 | 60%
[228 600 | 54% 1900, +:9.800, H:11.700 455 100 | 56%
R (CHE) =R F )| HECHE) % 501 ,600 56% 458 .900 58%
[ JL503 300 | 51% 21,000, H:17,800 455 600 | 53%
[ JL505 800 | 50% |&1:21.500 _ 455 100 | 52%
[JL507 000 | 4% 23,000, H:18,800 455 300 | _46%
L509 000 | 44% |% 23,000, H:18,000 455 300 | 46%
L511 000 | 4% 23,000, H:18,000 455 300 | _46%
L513 800 | 50% 00, +:21,500. H:18,500 455 100 | 52%
L515 500 455 800
L517 500 455 7.800
L519 500 455 7.800
L521 500 00, 1 5:18,800 455 800
[JL523 800 00 455 100
[_JL525 800 455 100
[ 527 900 455 200
[ JL529 900 100, %:23,700. £:18,800. H:19,800 455 200
[ L5310 300 | 49% |%:23,500, + B:18,800 455 600
L599 500 | 7% 18,800 455 800 18,100
FLUE (BT T %) 3¢ |_JL500 800 | 47% |%:+:20,400. H:18,800 45H 100 +:19,700, B:18,100
[ JL502 500 | _43% 18,800 455 800 18,100
[ JL504, 800 | 47% 18,800 455 00 18,100
[ JL506 800 | 50% 455 00
L508 800 | 50% 455 00 N
L: 800 | 50% 19,100, H:20,400 455 00 [£:18.400, H:19.700
L: 800 7 0,200, H:21500 455 00 [£:19500, H:20,800
L: 800 7 000, H:22,500 455 00 [£:20.300, H:21,800
L: 800 7 500, H:23,500 455 00 E
L: 800 7 500, H:23,500 455 00 E
[ JL520 800 7 500, H:23,500 455 00 E
[JL522 800 7 500, H:23,500 455 00 E
[ 524 800 7 0. +:19,000. H:23,500 455 100 800
[ JL526 000 | 49% 455 300
[ 528 500 | 51 20,000, H:21,000 455 800
[ JL530 500 | 51 20,000, H:21,000 455 800
58 000 | 47" 455 300
EEERET R CAE) 3 L303 100 | 71 455 100 2,200, £:16,200
[ JL305 000 | 68% 455 000 3
[JL307 200 | 56% 455 200
L309 200 | 53% 455 200
1 200 | _46% 455 200
L313 700 | 59% 9,200, H:14,700 455 700
L315 700 | 59% 9,200, H:14,700 455 700
L317 700 4 7,200, H:15,200 458 ,700
L319 700 4 458 ,700
L321 700 4 458 ,700
L323 600 7" 458 ,600
[ JL325 600 60% 458 ,600
[ JL327 700 55% 458 700
[ JL329 700 55% 458 700
331 700 55% 458 700
[ JL333 500 50% 458 ,600
L335 700 52% 458 ,700
BEE | _JL300 200 | 58% 455 200
[JL302 7,200 58% 458 ,200
[ JL304 700 55% 458 700
[ JL306 700 50% 458 ,700
L308 000 49% 458 ,000
L 400 63% 458 ,400
L 400 63% 458 ,400
L 700 64% 458 ,700
L 200 63% 458 ,200
L 100 61% 458 ,100
[JL320 300 60% 458 ,300
[ JL322 300 60% 458 ,300
[ JL324 200 56% 458 200
[ JL326 200 56% 458 200
[ JL328 200 56% 458 200
[JL330 200 58% 458 ,200
L332 300 68% 458 ,300
RR(PB) =48R | mRREHE) R L993 700 68% 458 .200
[_JLoot 700 68% 458 ,200
[_JL903 700 66% 458 ,200
[_JL905 700 64% 458 ,700
[JLoo7 700 64% 458 ,700
L909 ,700 66% 458 ,200
L913 ,700 68% 458 ,700
L915 700 70% 458 ,700
L917 700 72% 458 ,200 =+
L919 9,900 78% 458 9,800
L921 8,900 81% 458 8,800
L923 13,700 70% [#H:15700 458 12,700 £:14,700, H:14,200
L925 13,700 70% [#:22,200, B:15,700 458 12,700 £:18,400, H:14,200
e (RE) % 1900 10,800 458 .800
[ JL902 900 458 ,800
L994 ,900 458 ,800
[ JL904 900 458 800
[ JL906 900 458 ,800
L908 ,100 458 ,400
L ,100 458 ,900
L 1,500 458 ,100
L 1,500 458 ,600
L ,700 458 ,700
,700 458 ,700
[ JL920 1,500 458 ,600
L922 9,900 ) 458 800 A
PNACE E R ICET D) BR (R % L2001 400 54% +:22,.800 458 400 £:21,700
,000 57% 458 ,900 t:21,200
,600 60% 458 500 00, H:19,100
,600 58% 458 ,600 1,700, H:20,200
AT % | J 600 58% 458 600 20,700, £ H:11,800
,400 60% 458 ,300 18,200, H:19,000
,400 54% 2,800 458 ,400 1,700
400 54% | H:22,800 458 400 1,700
KBR (BAE) =#LIR (3T F5%)| BR (BAE) 3¢ 700 62% ,200. B:17,100 458 700 .100, H:16,100
,200 78% 800 458 ,700 o .300
,200 78% 800 458 ,700 .300
R Fm) ,200 78% 800 458 700 ,300
,200 78% 800 458 ,700 .300
L2506 ,800 59% | H:20.100 458 17,700 ,000
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KIR (F73) =48R KR (BT | JL2051 9,300 62% 45871 | 8800 64%
[JL2053 14200 | 42% 458 100 | 51%
["JL2057 300 62% 458 200 63%
JL2061 300 62% 5,500, % H:15.700. 1:15,100 458 200 63%
®EFE | JL2050 300 62% | & 1:15,000 458 200 63%
["JL2056 300 62% | 216,300, T H:15,700 458 200 63%
["JL2058 300 62% | %:16,300, H:15.700 458 200 63%
JL2060 300 62% 11,400 458 200 63%
KR () = (BRR) | KR 5 | JL2081 21,000 | 45% |&1:22.800 458 000 | 48%
JL2087 9,700 75% 458 800 7%
e (BE) R [ _JL2084 9,700 75% 458 800 77%
JL2088 300 | 45% 23,300 458 300 | _47%
TEE=LIE BT wEFE | I35 200 | 68% |%:24,100, T:25000, H:23,400 458 000 | 72%
JL35 800 | 69% |%:18200. B:18900 458 000 | 76%
R FRTR) R [ L35 800 | 69% | +:18.200. B:18900 458 000 | 76%
35 200 | 68% | H:23,400, H:25000 458 000 | 72%
BF(HE)=%5 HR(FE) R L565 ,900 57" £:22,600 458 700 59%
[ JL567 900 22,600 458 700 | 59%
569 900 22,600, B:20400 458 700 | 59%
ESTES L562 900 4,700 458 700 | 59%
[ JL564 900 4,700 458 700 | 59%
566 900 9,000, H:24,700 458 700 | 59%
HRCHE) =)l R (AE) R L551 400 | 56% f:21.900, H:18,500 458 600 | 58%
[ JL553 000 | 55% [%+:23,100 458 200 | 57%
[ JL555 300 | 59% 9,500, :19,000, H:20,400 458 500 | 60%
L557 300 | 59% [%:19,000, H:20,400 458 7500 | 60%
JCIES 562 100 | 55% 458 9300 | 56%
[JLs54 300 | 59% 21,800 458 7500 | 60%
[ JL556 300 | 59% |7K:20,200, :19.900, H:21,800 458 7500 | 60%
L558 700 | 53% |%:21,800, H:23,800 458 9900 | 55%
RR (AE) =g R (AE) R L 200 | 56% |#+:23800. B:18,700 458 8200 | 58%
L 700 | 67% |&1:22,200 458 7700 | 59%
L 200 | 58% |%:19,200, H:20,200 458 7.200
FIEE] L 200 | 58% |+ H:18,700 458 7.200
L 200 | 58% |&+ H:18,700 458 7.200
L 700 | 55% 23,700 458 700
RR (AE)=HE R (AE) R L 300 | 655% | % +:23,400 458 300 | 58%
L 300 | 55% |%+:20,300 458 300 | 58%
L 300 | 65% |%+:20,300 458 300 | 58%
L 300 | 55% |%:21500, H:23,500 458 300 | 58%
EY=3 L 300 | 65% | % +:23,400 458 300 | 58%
L 300 | 55% | &+ H:20,300 458 300 | 58%
L 300 | 55% |+ H:20,300 458 300 | 58%
L 300 | 55% |%:21500, H:23,500 458 300 | 58%
R (FH)=EE ER(FE)FE [_JL585 700 41% | +:24,500, H:19,500 458 .200 43%
[ JL587 000 | 46% |%:22,800, F:22.200, H:20,700 458 500 | 47% 2,300, +:21.700, H:20,200
L589 300 | 48% [%:21,800. H:22,800 458 800 | 49% 21,300, H:22.300
g% | JL584 1300 | 39% 458 800 | 41%
[ JL586 000 | 43% | +:18,000. H:24,800 458 500 | 45% | +:18,400, H:24.300
L588 500 | 45% [%:20,000, +:18,300. B:23,700 458 .000 | 46% |£:19,500, £:17.800, H:23.200
R (HE)=H& R CFE) % L141 300 58% 458 .800 59%
L143 800 | 56% 458 300 | 58%
L145 800 | 50% 458 300 | 61%
L147 200 | 58% |H:16,000 458 700 | 59% | H:15500
L 200 | 58% % E:16000 458 700 | 59% [#H:15500
L 800 | 59% [#H:15300 458 300 | 61% [#H:14800
BHR L 700 | 5% 458 300 | 61%
L 200 | 58% & ¥ H:15000 458 700 | 59% &+ H:14,500
L 200 | 58% &+ H:15000 458 700 | 59% &+ H:14,500
L 700 | 5% +14,300 458 300 | 61%
L 300 | 58% 114,800 458 800 | 59% [# 14600
L 700 | 5% 458 300 | 61%
HFE(FHE) 5 L 500 53% 458 500 56%
L 500 | 53% 458 500 | 56%
L 500 | 53% 458 500 | 56%
L 500 | 53% 458 500 | 56% |
L 500 | 53% 458 500 | 56% 5500
L 500 | 53% 458 500 | 56% 5,500
R (A HE R (GAH) 5 L 9,600 65% 458 9,500 66% 4500
L 400 | 37% 458 900 | 39% [#+:17500
L 200 | 45% 458 700 | 47% | +:15,100. H:16,900
L 700 | 39% 458 200 | 4i% N
FRER L 500 | 37% 458 000 | 38%
L 500 | 40% 7,500, B:18,000 458 000 | 42% 7.000, H:17,400
L 500 | 37% 8,900, F:15,400, H:18,500 458 000 | 38% 8400, +:14900, H:18,000
L 500 | 37% & 5:9,600, £:15400 458 000 | 38% & H:9,600, 1:14,900
FR ()= R CFE) % L 9,600 49% 458 .700 53%
L17 10,800 | 42% 458 700 48%
[ L17 10,800 | 42% 458 700 48%
LI78 9,600 49% | 458 700 53%
R CHE) =/ ML HER(HE) % [_JLi183 9,600 61% 1,200, H:10,200 458 500 61% 1,100, H:10,100
[ L85 11,000 | 54% 458 11,100 | 55% |+:12,300
L187 10,100 | 59% 458 10000 | 59% £ H:10,100
[ L8y 9,600 6% ¥ p 458 9,500 61% [+:10,100, H:11,100
191 9,600 6% 0,200, B:11,200 458 9,500 61% 0,100, B:11,100
L193 10100 | 59% 111,200, £:10,200 458 10000 | 59% 11,100, £:10,100
AT L182 10,100 | 59% % 5:10.200, £:11,200 458 10000 | 59% /K& H:10,100, £:11.100
184 9,600 61% 1,200, B:10.200 458 9,500 61% 1,100, H:10,100
[ JULi86 10,100 | 59% +10,200 458 10000 | 59% 10,100
[JLiss 10200 | 59% 0,600, % B:11,200 458 10100 | 59% |A:10500, £ H:11.100
190 11,000 | 54% 2,200, % B:12.400 458 11,100 | 55% 100, % H:12,300
L192 9,600 61% 111,200, £:10,200 458 9,500 61% 100, £:10,100
HR(PH)=-AmRAE BRE(HA)F L2 300 4T% 8,300 458 ,300 59% 300, +:17,300
L2 ,900 42% £:19,900 458 ,300 59% [7A:17.800, % +:18,800
L2 800 | 48% 17,800 458 300 | 59%
BICEER L2 ,300 50% 458 ,300 50%
L2 800 | 45% 8,300 458 300 | 59%
L2 900 | 42% 119,900 458 300 | 59%
HRCHA) =/ BR(HA)F L2 ,100 61% 4,300, H:13,600 458 ,600 63%
L2 000 | 64% 458 500 | 66%
L2 000 | 64% 458 500 | 66%
L2 300 | 58% [+ 458 800 | 5%
L2 800 | 53% X 458 300 | 55%
[GATES L2 000 64% 3,100 458 .500 66% E:1
L2 000 | 55% 3,200, H:12,600 458 500 | 57% 2,700, H:12,100
L2 000 | 64% %+ H:12,800 458 500 | 66% [#+ H:12300
L2 800 | 56% [%:15,300, %:14,700 458 300 | 58% 4800, F:14200
L2 800 | 53% [%:16,300, %:15,700 458 ,300 | 55% | 4:15,800, £:15200
R (AE)-LE EEE ] 1253 800 | 63% 458 300 | 64%
[ JL255 ,600 | 46% [ £:19,100 458 100 | 48% [E:18,600
[ uL257 600 | 49% |A:18,100. H:15,400 458 100 [ 51% [:17,600, H:14.900
[UL259 100 | 51% |H:15,400 458 600 | 52% | H:14,900
L261 300 | 5% 458 ,900 | 60%
[ UL263 300 | 5% 458 900 | 60%
[ JL265 300 | 56% |4 [H:15,800, 1:14,400 458 800 | 57% 15,300, £:13.900
1267 800 | 54% [%H:16,300, E:14,900 458 300 | 56% % 115,800, T:14,400
LE% | J252 700 | 60% 200 H:13,500 458 200 | 62% 700, H:13,000
[ JL254 300 | 56% 800, H:14,700 458 800 | 57 300, H:14,200
[ JL256 800 | 63% 13,400 458 300 4 £ H:12,900
[JL258 800 | 63% 13,400 458 300 4 12,900
[ JL260 400 | 55% 900 458 ,900 7 400
[ UL262 400 | 55% 900 458 ,900 7 400
1264 400 | 53% 900 £:15,400 458 900 4 400, £:14,900
1266 .900 | 51% 400, :15,900 458 400 3 900, +:15,400
HR(PE)=ILOFH HR(HE) L291 500 73% | +:11,600. H:10,100 458 000 48 1,100, H:9,600
[ L2903 700 | 70% 12,300, £:12,100 458 200 | 71 11,800, 11,600
[ JL295 100 | 69% 458 600 |70 1800, +:10,600. B:13.800
1297 100 | 69% 458 600 |70
WWOFESE | _JL290 600 | 68% 458 100 | 69%
[ L2902 600 | 68% 458 100 | 69%
1294 100 | 69% 458 600 | 70%
1296 600 | 73% 458 100 | 74%
R (AE)-HE EEEE] L277 1900 | 54% 458 900 | 57%
[ UL279 300 | 40% 458 400 | 43%
[JL283 600 | 52% 400 458 500 | 55%
[ JL285 .900 | 57% 400 458 300 | 62% |4+:12,000. H:14,000
1287 500 | 46% 19,300, £:14,700 458 500 | 49% 18,500, £:13,700
HER L276 200 | 59% |+:15,700 458 600 | 64% 12,000, £:14,700
[ uL278 900 | 51% 7,700, £:18,600, H:16,100 458 000 | 54% |%:16,800, +:17,600, H:15100
[ JL280 300 | 50% %t H:16,400 458 500 | 55%
1284 500 | 40% |£:20,300. £:20,000, H:20,100 458 600 | 42% [#:19.400, £:19.100. H:19.300
1286 600 | 46% 18,200, :16,900 458 500 | 49% [#E:17.100. £:15.800
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RRCPE)=-ES FRCHE) % |_JL453 55% | H:12,500 45E Al 0,900
[JLa55 55% | H:12,500 458 K 1:10,900
[uLas7 62% | & 1:14,500 458 900 | 67% [&+:11600
[JLa59 62% f 14,500 458 900 | 67% & +:11,600
[JLa61 55% 3,500, B:14,500 458 600 | 65%
[JL463 58% | % B:14900, £:13,200 458 600 | 65%
465 58% % B:14900, £:13200 458 600 | 65% [®#H12100
EBFE | Ju452 57% 45500, H:13,200 458 600 | 65% [+:12,100
[JLasa 60% | %:14,300, £:14,500 458 600 | 65% i.|z‘100
[ JL456 60% 458 600 | 65%
[JLas8 60% 458 600 | 65%
[JL460 60% 458 600 | 65%
[JL462 60% 458 600 | 65%
4 56% | 13,600 458 600 | 65%
R (AE) R 5 50% | %+ H:14,300 458 500 | 62% &+ H:13,600
La77 50% |%+:17.100, H:15,400 458 800 | 52% [%+:16,300, H:14,400
L479 60% 458 500 | 62%
1 60% 458 500 | 62%
[ L83 60% — 458 500 | 62%
[JL485 51% 6,800, £:13,500 458 300 | 54%
487 48% 7,800, +:14,500 458 300 | 51%
BT 474 56% |%+:15.900, H:13,500 458 500 | 59%
L476 53% 6,300, B:13,500 458 500 | 56%
[uLa78 5% t H:14,800 458 500 | 62%
[JL480 50% |%+ H:14,800 458 500 | 62% E
[JLa82 55% 5800, 15,300 458 900 | 58% 4800, £:14,300
[JLasa 47% 8,100, F:15.800 458 700 | 50% 117,000, +:14,800
486 50% 7,100, +:14,800 458 700 | 53%
R CRE) =B HECHE) % L491 60% 4,500, 1:15,000, H:12.900 458 ,200 | 63%
[ L4903 57% 5,500, +:16.000, B:13,900 458 200 | 60%
[JL495 64% | 1:14,400, H:13,900 458 500 | 67%
[JLas7 57% |+:13,900, B:15500 458 200 | 60%
499 51% 13,900, B:17,600 458 300 | 54%
I3 490 55% 500, H:15,200 458 500 | 62%
[JLa92 60% 200, £:15,800 458 200 | 63%
494 64% [T H:13900 458 500 | 67%
[ JL496 56% 6,000, F:15,200 458 700 | 58% 5500, £:14200
L498 51% 7,600, +:13.900 458 300 | 54% 117,100, +:12.900
HE CHE)=#2Il R (AE) R 431 63% | 1:15,000, H:14,200 458 200 | 66% +14,500, B:13,200
[JL433 52% | % +:19,000, H:18,200 458 200 | 55% 8500, B:17.200
[JL435 58% 458 000 | 61%
[ULa37 63% |+ H:15,000 458 200 | 66% %+ H:14,000
[JL439 53% 18,100, £:15,900 458 .000 | 55% +17,600, £:14,900
L443 48% 19,600, +:17.400 458 500 | 51% [#£8:19,100, F:16,400
HALFE 430 53% 458 000 | 55% 2,200
[JLa32 55% 458 000 | 58%
[ ULa3a 61% 458 900 | 64%
[ JL436 60% 6,800, F:15,.800, H:17,500 458 400 | 63% 5800, +:14.800, H17,000
438 53% 7,500, :15,300, B:17,600 458 000 | 55% 6,500, £:14,300, B:1
L44 53% |%:17,500, £:15,300, B:17,600 458 .000 | 554 6,500, +:14,300, H:17,100
R CAE) =AM R CAH) 5 L37 74% | % $:11,100, H:8,500 458 600 | 77%
L37 61% 4,100 458 00 | 63%
L37 63% [ F:16,100 458 00 | 66% 100
L37 58% |%:17,600, £:14,100, B:19,100 458 00 | 61 600 :13,100, B:18.100
L37 58% 7,600 :t 14,100 458 100 | 61 600, £:13,100
FEAMEE L37 68% 458 300 | 70% 100, B:11,100
L37. 61% [+:15,100, E 3,100 458 100 | 63% 100, B:12,100
L37 63% 5,700, £:14,700, H:15,100 458 300 | 65 700, +:13.700. B:14,100
L37 63% 17,100, £:13,600 458 300 | 65 16,100, £:12,600
L37 68% 6,100, F:11,500, H:14,100 458 100 | 71 5100, £:10,500, H:13,100
HRE(FHE)=K5 WR(FE) % [_JL661 59% 458 500 69% 14,
[ JL663 50% | % 17,000 458 500 | 64%
[ JL665 61% _[&1:16,000 458 500 | 66%
[ JL667 6% 458 500 | 66%
[ JL669 6% 3 18,500 458 500 | 66% 4,300, 7K:13.700, H:16,300
671 5% 8,000, H:19,500 458 500 | 64 5,300, 7K:14700, #:16,300, H:17,300
X7 | _JLe62 5% 7,500, £:18,000 458 700 | 63% 5,300, +:15,.800, H:14,500
[JL664 61% 6,500, £:17,000 458 700 | 66% 4,300, £:14,800, H:13,500
[ JL668 6% 458 500 | 66% 14,800
670 6% 458 500 | 66% | H:14,800
L672 59% | /17,000, £:18,000, B:19,500 458 500 | 64% 4,700, %:15.700, H:17.300
674 61% 6000, B:18.000 458 500 | 66h 13,700, H:15,800
R CAE)=Rs R CAH) 5 605 62% 9,000 458 500 | 67% 7,800
[JL607 61% 500, & +:19,500 458 700 | 66% |A:15800, :17.500, %:18,300, £:17.800
[ JL609 63% 15,500, B:16,500 458 700 | 69% | JKA:13,500, B:14,300
L611 63% | k7KA:15,500, H:16,500 458 700 | 69% |JoKZA:13,500, B:14,300
L613 6% 7,000, :16.000, B:17,500 458 500 | 69% |39:14800, :13.700, H:15.300
L615 62% K:17.000, #:18,000, B:18,500 458 500 67% #:15,800, 714,700, H:16.300
RB% | _JL606 62% 458 500 | 67% A7)
L608 6% 6,500, 17,000 458 500 | 69% A7)
63% | kJKA:15,500, H:17.500 458 500 | 69%
L 61% 8,000, 7K:16,500. %:17,500, H:20,000 458 300 | 65% 5.300, J¢.14.700, 7K. 14,500, 15,800, H-18.300
L 56% 458 500 | 60% ;
L 6% 458 500 | 69%
R CHE)= RRCHE) S |_JL62 64% 458 600 | 69
[ JL625 62% |2 458 500 | 67%
[ JL627 60% 458 500 | 65%
[JL629 60% 458 500 | 65%
L631 62% |2 458 500 | 67%
1633 62% |2 458 500 | 67% A%
[JL637 60% ﬁ 9,000, H.19.500 458 700 | 64%
L639 60% ﬁ 9,500, H:20,000 458 500 | 65%
AR | Jl622 62% 458 500 | 67%
[ JL624 60% 458 300 | 63%
[ JL626 60% 458 300 65% ‘700 KA 500 i
[ JLe28 62% 458 500 | 67% |4 +:13,700, H:15,300
[JL630 60% 458 500 | 65% |4 +:14,700, H:16,300
L632 62% 458 500 | 67% 5,300, H:17,500
1634 60% 458 500 | 65%
638 57% 458 ,000 4 3700, 7K-14.800_ 16,800, H 16,300
HR(HE) =55 RR(HH) L687 62% 458 .500
[ JL689 62% 6,000 458 500 £:13700
691 62% f 5:16,000 458 500 £+ H:13,700
[ JL693 61% +£:15,500,_H:17.000 458 700 ok £:13,500, B:14.800
[ JL695 62% £:16,000, #:16,500, H:17,500 458 500 H:13,700, X #:14,300, H:15,300
697 62% 6,500, H:17,500 458 500 [£:14,300, B:15,300
EWGS  |_JL6ss 61% 15,500, %:16,500, £:17,500 458 300 | 65% [H:13,700, /K H:13,500, £:15.300
[JL6%0 62% 458 500 Th | £:13,700
[JL692 62% 6,000 458 500 £:13,700
1694 62% 16,000 458 500 A H:13.700
[ JL696 62% 458 500 4,300
698 62% 458 500 13,700
R (HA)=ER HR(HA)F L641 7% 458 .800 [£:13.200, £:14,300
L643 68% 458 ,300 | 69% 500, +:15,800
L645 68% 458 ,300 69% 500, A:15.700, #:16.300, £:17.300
L647 68% 458 300 | 69% 500
L649 70% 458 300 | 72% [£:13,700
] 70% | H#:16,000, H:17.000 458 300 | 72% [FA4:13700, B:14800
[ JL653 70% | H#:16,000, H:17.500 458 300 | 72% [A4:13700, B:15300
L655 70% #:16,000, H:17.500 458 300 | 72% [A#:13700, B:15300
BEREBRE L 72% 600, +:16,600 458 400 | 7 400, £:14,400
L 68% 7,500 458 300 | 69% 300
L 70% 6,500 458 300 | 72% [£:14300
L 70% 7,000 458 300 | 72% 800
L 66% | :18,000. H:18,500 458 300 | 67% 700, H:17,300
[ JL650 68% | H:17,000, H:18,500 458 300 | 69% 700, H:18,000
[ JLe52 68% 7,700, H:19.500 458 300 | 69% 200, H:19,000
L654 70% 18,000 458 300 | 72% 16,300
R (HE)-EEXS R (HHE)# L659 4! 0,900, A% £:21,900 458 ,300 65% | B:20,300, K& +:21,300
BWEKX, L658 4 21,900 458 300 | 65% |HA21300
RER(EBE)=KR () | RRERBE) L3005 458 ,800 49%
3009 458 800 | 49%
KR () % 3004, 458 800 | 49%
L3006 458 800 | 49%
TR () =AU (B T )| (e 5 3049 52% | H:17,800, :19,100, %:21,700. %:16,800 458 200 [ 54% [H:17.100, 7:18,400, #:21,000, :16,100
#L8R (B T8 % | JL3040 53% |H:16,800, #:18.400, 1:18,400 458 100 | 54% |H:16,100, %:17.700, £:17.700
R HE) -2 a2 (P8)| 2w (HE) S L201 60% 458 700 62%
1209 60% 458 700 62%
B B (P EB) 3¢ |_JL200 60% 458 700 62%
L208 60% 458 700 62%
HR(RE)=BEE (Pal)| R (FME)F% [ JL3083 .000 26% 458 .000
L3087 000 | 26% 458 000
2 B (P 85) 3 |_JL3082 000 | 26% 458 000
L3084 000 | 26% 458 000
EEGTET HR (E) % | JL3057 500 | 55% |H:21700, 7:19.000, £:24,100, F:18,000 458 500 :20,700, :18,000, #:23.100, £:17,000
E=IEE L3052 800 59% 458 800 624
KIR () =mE KR (B % | JL2123 500 | 55% |21:21000. A:18500 458 200 | 58% [£+:19,500. H:17.800
AR L2124 100 | 58% 458 500 | 62%




IEBE5 1 EERARI~15BEES)

SEFEAE 2019/01/23 _~
7115
FRIHTA W78
=] E%
TR | ggem | BR 8 =g | BEW
masm | R | g il masm | TR | e il
KIR () =# % KR (R B 100 | 56% 45881 700 | 69%
700 | 62% 458 700 | 69%
800 | 64% 458 700 | 69%
ERRE 800 | 64% 458 700 | 69%
700 | 62% 458 700 | 69%
100 | 56% 458 700 | 69%
KR (7} PG 800 | 60% |A L H:21,400, £:19.400 458 600 | 66%
=iRE 800 | 60% |£:20200, £:18,800, H:21,400 458 600 | 66%
ESACEE ] KR (DR 700 | 55% 458 700 | 66%
800 | 60% 458 700 | 68%
300 | 56% |H:18,800 458 700 | 66%
HER 300 | 56% 458 700 | 66%
800 | 60% 458 700 | 68%
700 | 55% 458 700 | 66%
KR (7 =7e% KR (DR 700 | 48% 458 500 | 53%
700 | 48% | X:27.100 458 500 | 53%
000 | 49% | B:26,000 458 1900 | 55% | H:22,600
500 | 46% |7K:28,100. H:30,200 458 9200 | 51% |7k:24,400, H:26.100
EBR 700 | 48% 458 8500 | 53%
100 | 52% 458 7100 | 57%
000 | 49% | 26,000, £:28,100 458 7.900 | 55% |A:22,600, £:24.400
500 | 46% |2:30,200, H:23,100 458 200 | 51% | %:26,100, H:20.700
R (7 =1Lz KR (D # 300 | 60% 458 600 | 65%
100 | 58% |X:19,500. % H:15.900 458 200 | 63% [ £ 613,900
900 | 56% | XsK#:20,500, H:21.500 458 ,900 | 61% | ksK£:19,200. H:20,100
23 900 | 56% | +:16,600, H:20,500 458 900 | 61% | +:14,600, H:19.200
100 | 58% 458 200 | 63%
600 | 54% |2:21500 458 600 | 59% |2:20,100
KB (D =IL& KR (7 600 58% 458 ,000 65%
300 | 53% 458 200 | 654
000 | 54% 458 700 | 66%
600 | 55% 458 700 | 66%
000 | 48% 458 200 | 654
000 | 48% 458 200 | 654
400 | 47% 458 200 | 654
400 | 47% 458 200 | 654
"X 300 | 50% 458 200 | 654
300 | 50% 458 200 | 65%
300 | 50% 458 700 | 66%
300 | 50% 458 700 | 66%
700 | 52% 458 200 | 654
300 | 53% 458 200 | 65%
600 | 58% 458 000 | 65%
600 | 58% 458 000 | 65
KR (BFD=318 KIR (FF3) 5 700 | 58% 458 400 | 62%
700 | 58% 458 400 | 62%
700 | 5% |E:17.200 458 700 | 58% | H:15,100
700 | 5% |HA:17.200 458 700 | 58% | H:15,100
B 300 | 50% 458 000 | 57%
000 | 54% 458 700 1%
700 | 58% 458 .00 4%
700 | 58% 458 700 | 64
EGREAT KR () % 900 | 43% 458 .300 | 46%
700 | _4d% 458 200 52%
900 | 43% 458 10300 | 46%
YIS 700 |_44% [ £:12.000 458 500 50% | £:10500
900 | 43% 458 700 49%
700 | 33% 458 700 | 44%
KR (FFH=X5 EACESE 200 53% 458 00 53%
200 | 53% 458 00 | 53% |
200 | 53% 458 00 | 53% |H:16800
RR% 200 | 53% 458 00 | 53% |%:11,800. £:16000
200 | 53% 458 00 | 53% |H:16800
200 | 53% 458 100 | 53% | H:16,800
KR (=R KR () % 000 | 48% 458 000 | 554
000 | 8% 458 000 | 554
000 | 55% 458 700 | 5%
400 | 50% |E:15700 458 400 | 57% | H:13,700
RE% 400 | 50% 458 400 | 57%
000 | 55% 458 700 | 5%
000 | 55% 458 700 | 5%
400 | 50% |£:15700. H:16.700 458 400 | 57% |%:13,700, H:14,300
KR () 5 700 | 59% 458 600 | 60%
700 | 59% 458 600 | 60%
800 | 48% f 14,200, H:12,900 — — —
700 | 59% 19,100 4588 | 10600 | 60% | H:14800
AR 700 | 59% 8,600 4588 | 10600 | 60% |+:14800
900 | 51% 3,700, +:13,800, H:18,500 — — —
700 | 59% 450 600 | 60%
700 59% |#H:19,100 458 .600 60% [#:17.700, B:17,200
KR () == KER () % L2431 500 49% 458 400 53%
L2 100 | 39% 458 000 | 47h
L: 100 | 39% 458 000 | 47h
700 | 40% 458 500 | 49%
000 | 43% 458 700 | 52%
000 | 43% [F:17.300 458 700 | 52% | +:14,700
000 | 43% 458 700 | 52%
100 | 39% 458 700 | 48%
100 | 39% 458 700 | 48%
700 | 40% 458 500 | 49%
KR (P -ERE 200 | 56% 458 400 | 62%
700 4% | £:15,200 458 000 | 60% | +:13,200
700 1 458 700 | 58%
700 4 458 400 | 62%
700 4 458 000 | 60%
500 | 55% 458 400 | 62%
700 | 5% 458 000 | 60%
BERER 700 | 58% 458 100 | 63%
700 | 58% 458 400 | 62%
700 | 58% 458 400 | 62%
700 | 58% 458 400 | 62%
700 | 58% |H:14200 458 400 | 62% | H:12,700
700 | 48% |H:17.200 458 500 | 556 | H:14,700
400 | 5% 458 700 | 58%
KR (FF)=BEXE | _ABR(FM 3 100 33% 458 000 58%
BERER L: 7100 | 33% 458 000 | 58% |
BEE (PR -HLIE F T8 BHE(PE)5 | J 1,000 74% % +:20,000, H:12,900 458 900 7 0,400, 2 +:18,900, H:12,300
0500 | 75% |%:21,600, H:12.400 458 400 |7 00, H:11,800
0,000 76% |4:10.100, +:10,500, H:11,900 458 .900 7 400, §:10,000, £:10.400, H:11,300
9,100 78% 200, +:9.600, B:11,000 458 .000 7 500, $:9,100, +:0,500, H:10.400
7,100 83% 200, £:7,600, B:11,300 458 000 83% |2
AR BT % | 9,200 78% 00, :11,100, £ 458 100 78% A9,
100 76% 600, #:12,000, +£:1 458 .000 7 K:10,500, &1
600 75% .100, $:12,500, £:12,800, H:20,400 458 .500 7 K:11,000, #:10.700, +£:12,200, H:19.300
.600 72% [ A:12,100, &:1 N 00, H:20400 458 .500 7 K:12,000, #:11,700, +£:13.200, H:19,300
L3118 600 75% | A:11,100, #:12.500, +:12,800, H:20,700 458 .500 7 K:11,000, #:10.700, +£:12,200, H:19,600
BEHE (MU= BEE (MR F | JL4321 .500 458 500
4323 500 458 500
wifiz% [_JL4322 500 458 ,500
4326 500 458 500 | ¢
ZEENVR-HE | BEEMO R 431 300 458 ,300 | 45%
L4437 300 458 ,300 | 454
WER [ JL4432 300 458 ,300 | 454
438 300 458 ,300 | 45%
ZEE(NR-EE | BEECMIO S| JL4333 900 | 48% |2 115400, A:13,900 458 ,900 | 51% |2 +:14,400. B:12,900
F 14334 900 | 48% |#H:15400 458 ,900 | 51% |#H:14400
ZEEMR-BA | BEE (MO I3l 100 | 55% 458 100 | 58%
L4375 100 | 55% 458 100 | 58%
L4377 100 | 55% 458 100 | 58%
B L437: 100 | 55% 458 100 | 58%
L437 100 | 55% 458 100 | 58%
L437 100 | 65% | 458 100 | 58%
ZEREMRTRE | BEE M) 5 |_JL440 900 | 44% 14,900 458 900 | 48% |H:13,900
900 | 44% |A:14900 458 900 | 48% [H:13,900
900 | 48% |&1:15400 458 ,900 | 51% |+ 14400
900 | 48% [%:15,400. H:15,900 458 900 | 51% 4,400, B:14,900
500 | 49% [#:15900, H:14,900 458 500 | 53% [%:14,900. H:13,900
RER 200 | a7% 458 200 | 50%
500 | 46% | A:14,100 450 500 | 49% | [H:13,100
900 | ad% 458 900 | 48%
900 | ad% 458 900 | _48%
400 | 46% |A:15900 458 400 | 49% | H:14,900
BEE(MO-TEA | AEEMD X |_JL4sal 200 | 50% |£1:18400, A:15.100 458 200 | 54% [@+:17,400. B:14.100
L4345 700 | 55% |£:15.100. H:15.400 458 700 | 58%
L4347 400 | 56% |%:15600, 14,700, H:16,200 458 400 | 59% 00, H:15.200
AR L4342 600 | 55% |£:15900. £:15.400 458 600 | 58%
L4346 400 | 53% ,900. +:14,900. H:16,800 458 400 | 56% 900, £:13.900. H:15,800
L4348 900 | 51% |+:14,400. H:18.200 458 900 | 54% [ +:13.400. H:17.200
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B e B o ST P
TR BAME | | #isix "
W= M LAME JL3669 400 | 69% 45881 | 11,300 | 69%
JL3668 400 | 69% 458 11,300 | 69%
LR FF T8 5 [ L 700 | 43% 458 700 | 55%
JL 700 | _47% 458 700 60%
JL 700 | 47% 458 700 60%
BT JL 700 | 47% 458 700 60%
JL 700 | 47% 458 700 60%
JL 700 | 43% [&:15100 458 700 | 55% [%:11,700
HREFTR-H/ | AREFTR R L 000 | 50% 458 200 70%
[J 000 | 50% 458 200 70%
J 000 | 50% 458 200 70%
wHRE | L 000 | 50% 458 200 70%
[J 000 | 50% 458 200 70%
J 000 | 50% 458 200 70%
FLIR BT =B AR (T F8R) 5 |_JL: 700 458 ,700 69%
L: 700 458 700 69%
HER 700 458 700 69%
L: 700 458 700 69%
FLIR (FTFR)=1ES ALOR (1 FiR) 5 |_JL: ,700 8% 458 .600 63%
[J 500 | 45% | 458 100 | 61%
400 | 42% 1,000 458 900 | 58%
BR[| 400 | 42% [%&+:18,100 458 900 | 58%
[J 500 | 45% | H:18,000 458 100 | 61%
400 2 7,200 458 900 | 58%
AR TR FBR 700 4 458 700 | 50%
300 1 458 700 | 53%
RFTR R 300 1 458 700 | 53%
700 7 458 700 | 56%
HREFTR)=-IE XS 600 | 35% | %:21,300, +:23.200. B:21900 458 700 | 41% | JKA:18,000, +:20000
[J 600 | 35% | H%:21,300, +:28.600, B:21900 458 700 | 41% | JoKA:18,000, +:25,300
[J 300 | 30% | %:23,200, +:22,600, H:26,200 458 700
[J 000 | 37% [R 25,300, £:26,200. %:27,000, £:21,300, B:28600 | 458 000
000 | 37% [k 458 400
LR FFF8) 5 [ L 200 | 18% |2 458 2,900
500 | 14% 458 4,300
300 | 39% 458 7.400
[J 000 | 37% 458 000
000 | 37% 0,600, F:21,300, H:22,600 458 000 A:17.400, B:19,300
R FTFR)-5LE LB 300 | 66% 9,700, F:18,200 458 800 6,200, £:18,100, T:17.
ARG TR 300 | 66% | H:18,200 458 200 6,800, +:16,500, H:17.700
RE-TE FEES 300 | 56% f:26,300, £:23,200. H:27,300 458 400 2,600, :21,100, H:23,400
&SR 300 | 56% 300 458 400 2,600
wE=ILE wEx | J 100 | 61% 458 100
700 | 62% 458 7,100
wex [ 700 | 62% 458 6.700
700 | 60% 458 7.700
EE=58 EEFE 600 55% | H:21,600 458 100
B 100 | 56% [&+:21,100 458 600
TEE=1AA wEE | J 300 | 49% 458 100
300 | 49% 458 100
nAE | J 300 | 49% 458 100
300 | 49% 458 100
[EET] wEE | J 100 | 56% [£:17.100 458 600
[J 100 | 56% 7,100 458 600
[J 100 | 50% 19,100 458 600
600 | 52% 18,600 458 100
wEE | J 7600 | 52% 8,600 458 100
[J 100 | 50% 19,100 458 600
[J 100 | 56% 17,100 458 600
100 | 58% 16,100 458 600 14,600
AMEFFR) =R | ARG TR) R :400 46% 458 .400
S 400 | 46% 458 400
RE-1ER [T ,000 22% — — —
[J 000 | 22%
000 | 22%
xER | J 000 | 22%
[J 000 | 22% — —
000 | 22%
RE-FEA EA R 800 40%
K E 5 800 40%
IR (EM)=FE | HER 200 63%
ALIR (3 5 .200 63%
HE-ERS Eid 800 63%
ERERE 800 | 63%
HMEFFR =L | ARGITR) R .300 53%
23 L: 300 | 53%
FE=HE FE S L: 000 | 63%
HES L: 000 | 63%
WE=HE WA L2993 500 | 60%
HES L2092 500 | 60%
ALIR (B2 =SIBR ALIR (B3 5 L2861 900 24%
[ L2863 900 | 2a%
[ L2865 600 | 43%
L2869 600 | 43%
FEES L2860 900 | 2a%
[ L2862 600 | 43%
[JL2864 600 | 43%
L2868 600 | 43%
ALIR (B 25) =BRfE FLIR (B 25) 5 L27: 000
L27 000
000
000
900
900 000
B3 000 ,900 400
000 900 400
000 900 400
000 ,900 112,400
000 X
000 5 2,900 900 £ H:12,400
ALIR (B2 =FIFR 000 55% 3,500
000 | 55% [+ H:13,500
WAE=E 7,500 53% 000 — —
7,500 53% 000
FLIR ()= 000 50% 4,700 +8:13.700
000 | 50% [+ H:14,700 £ B:13,700
KB () =R 900 48%
900 | _48%
RIR () = = 700 | 60% |
12700 | 41%
700 55%
700 55%
HER 700 55, |+
700 55%
12,700 41% [A 311,700
700 55% [£:11,700
BE-ES EEES 700
700
BER 700
700 | ¢
RERE 000 | 29%
000 | 29%
B 000 | 29%
000 | 29%
BE=tL EEES 800 Atk
800 | 45%
800 | 45%
800 | _a1%
YIS 800 | _a1%
800 | 45%
800 | _a1% — —
800 | 45% — — —
EE-EE RER 7,600 66% 458 000 73%
8,800 60% | 57,600 458 800 65% | 56,700
7,600 66% | 458 000 7
7,600 66% 400 458 000 7 6,600
7,600 66% ,800 458 000 7 6,900
7,600 66% |5 +:8400, % H:8.800 458 000 7 B £:6.600, £ H:6.900
7,600 66% ,800 458 000 7 900
ElCE 7,600 66% |4 1:8.800 458 000 7 6,900
7,600 66% |2 1:8.800 458 000 7 £:6,900
7,600 66% |2 1:8.800 458 000 7 E:6,900
L: 7,600 66% 400, £:8,800 458 000 7 600, 6,900
L: 7,600 66% | 28,800, £:8,400 458 000 7 900, 6,600
L: 7,600 66% | 28,800 458 000 7 .900
L: 7,600 66% | 7k:8.400. A%:8,800 458 000 73% | 7K:6.600, K£:6.900
BE-GEAR HEE L3681 19300 | 46% — — —
BEXGH L3684 19.300 | 6% — — —
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=] E%
TR | ggem | BR TR | g | DR
wm | TR | o il masm | TR | g | %
BER(FBR)=ARED | mxE@EE Lol BAI ,200 60% 1,100 45E B 100 60% 0,900
[JLi03 700 | 54% 2,200, B:11,200 458 400 | 55% 2,000, B:11,100
700 | 50% 3,200, B:12,300 458 500 | 50%
800 | 45% 14,900, B:12,300 458 500 | 46%
700 | 50% +:13.800, B:12,300 458 500 | 50%
700 | 50% 800, 1:13,300, H:12,300 458 500 | 50%
700 | 50% 200 + B:12,300 458 500 | 50%
700 |_54% 200, %:11,200, H:12,300 458 400 | 55%
700 | _54% 2,200, F:11,200, B:12,300 458 400 | 55%
800 | 45% 00, 5:13,300 458 500 | 46%
800 | 5% 400, 1:11,200. H:13,300 458 500 | 46%
[ 800 | 5% 400, £:11,00, H:14,900 458 500 | 46%
[Li33 800 | 5% 400, £:11,00, H:14,900 458 500 | 46%
137 800 | 45% |A%:15400, +:11.200. B:14900 458 500 | 46%
139 800 | 45% | A:15,400, £:14,700, +:11,00, H:14,900 458 500 | 46%
KR (D& L 200 | 48% 458 000 | 48%
L 800 | 45% 458 500 | 46%
L 900 | _a1% 400, +:11,700, B:11,200 458 700 | 42%
L 900 |_a1% 00, +:12.700, B:11,200 458 700 | 42%
L 700 | 50% 200 458 500 | 50%
L 700 | 50% [ B:11,200 458 500 | 50%
L 700 | 54% [ +:12,700, B:11,200 458 400 | 55%
L 700 | _54% 1200, B:11,800 458 400 | 55%
L 200 | 56% 800 458 000 | 56%
L 700 |_54% 1200 B:11,800 458 400 | 55%
L 700 | 54% 200, B:14,400 458 400 | 55%
L 700 | 54% 300, %:11,00. H:14,400 458 400 | 55%
L 800 | 45% 5:14900 458 500 | 46%
L134 800 | 45% 11,200, B:14900 458 500 | 46%
L138 800 | 45% 11,200, B:12,700 458 500 | 46%
RFR(HE)=KKR(BAE) | ®FE(GIHE) S L221 ,000 56% H:9.900 458 .500 58%
[ JL225 800 | 57% 0 458 300 | 59%
1229 800 | 57% . £:10,600, B:12,100 458 300 | 59%
EACEES 1220 200 67% 458 700 69%
[JL224 700 | 58% 11,700 £:10,600 458 200 | 60%
1228 600 | 54% 1900, +:9,800, B:11.700 458 100 | 56%
R (CHE) =R F )| HECHE) % 501 ,600 56% 458 .900 58%
[JL503 300 | 51% 21,000, B:17,800 458 600 | 53%
[ JL505 800 | 50% [&+:21.500 _ 458 100 | 52%
[JL507 000 | a4% 23,000, H:18,800 458 300 | 46%
L509 000 | 44% [%+:23000. B:18,000 458 300 | 46%
L511 000 | _a4% 23,000, H:18,000 458 300 | 46%
L513 800 | 50% 00, +:21,500, H:18,500 458 100 | 52%
L515 500 458 800
L517 500 458 7,800
L519 500 458 7,800
L521 500 00, £ H:18,800 458 800
[ JLs23 800 00 458 100
[ JL525 800 458 100
[ JLs27 900 458 200
[JLs29 900 | a7% 21,100, £:23,700, %:18,800. H:19,800 458 200
[ JL531 300 | 49% [%:23,500, & B:18,800 458 600
L599 500 | 37% 18,800 458 800 18,100
ALIR (T ) F |_JL500 800 | _47% | :19,700, % :20400. B:18800 458 100 K:18.900. & £:19.700. H:18.100
[JL502 500 | 43% | A:21,000, H:18,800 458 800 £:20.100, H:18,100
[JL504 800 | 47% | A:18,300, H:18,800 458 00 17,700, B:18,100
[ JL506 800 | 50% | A:18,300 458 00
L508 800 458 00
L 800 458 00 700
L 800 458 00 800
L 800 458 00 800
L 800 458 00 800
L 800 458 00
[ JL520 800 458 00
[ JLs22 800 500, H:23,500 458 00
[ JLs24 800 7 0. +:19,000. H:23,500 458 100 800
[ JL526 000 | 49% 458 300
[ JLs28 500 |51 20,000, H:21,000 458 800
[ JL530 500 |51 20,000, H:21,000 458 800
598 000 |47 458 300
EEERET R CAH) 5 L303 100 [ 71 458 100 2,200, £:16,200
[ JL305 000 | 68% 100, +:18,200 458 000 3
[JL307 200 | 56% 121,100, B:14,200 458 200
L309 200 | 53% 3,100, B:15,200 458 200
] 200 | 46% 0 458 200
L313 700 | 59% £:19.200, B:14,700 458 700
L315 700 | 59% 9,200, B:14,700 458 700
L317 700 4 . B:15,200 458 700
L319 700 4 458 700
L321 700 4 458 700
1323 600 7 458 600
[ JL325 600 | 60% 458 600
[ U327 700 | 55% 458 700
[ U329 700 | 55% 458 700
331 700 | 55% 458 700
[ UL333 500 | 50% 458 500
L335 700 | 52% 458 700
EEE  |_JL300 200 | 58% 458 200
[ UL302 7200 | 58% 458 200
[JL304 700 | 55% 458 700
[ JL306 700 | 50% 458 700
L308 000 | 49% 458 000
: 400 | 63% 458 400
: 400 | 63% 458 400
: 700 | 64 458 700
: 200 | 63% 458 200
: 100 | 61% 458 100
[ JL320 300 | _60% 458 300
[ L322 300 | 60% 458 300
[ JL324 200 | 56% 458 200
[ U326 200 | 56% 458 200
[ UL328 200 | 56% 458 200
[JL330 200 | 58% 458 200
1332 300 | 68% 458 300
RR(PB) =48R | mRREHE) R L993 700 68% 458 .200
[JLo01 700 | 68% 458 200
[JL903 700 | 66% 458 200
[ JL905 700 | 64t 458 700
[JL907 700 | 64 458 700
L909 700 | 66% ¥ 458 200
Lo13 700 |_68% 20,500 458 700 | 70%
L915 700 | 70% 20,200 458 700
L917 700 | 72% [#1:20,200 458 200 £
L919 9,900 78% 458 9,800
Lo21 8,900 1% 458 8,800
L923 13700 | 70% [#E:15.700 458 12,700 414700, H:14200
L925 13700 | 70% [#:22,200. H:15,700 458 12,700 418500, H:14.200
Er i) L900 12000 | 73% 458 11,200
[JL902 8,900 1% 458 8,800
1994 8,900 1% 458 8,800
[JLo04 9,900 78% 458 9,800
[ JL906 900 | 76% 458 800
L908 700 | 68% |H:20300 458 200
L 200 | 67% 300 458 000
L 200 | 67% 600 458 000
L 700 |__66% | H:20,600 458 700
L 700 | _66% | H:20800 458 700
700 | _66% | H:20800 458 700
700 | 72% | H:20600 458 200
9,900 78% 700 458 9,800 ;
KR (B =AM FTm)| KR (% 1400 | 54% [#+:22,800 458 400 £:21.700
0000 | 57% 22,300 458 900 .
8600 | 60% 9,600, H:20,200 458 500 00, B:19,100
7,600 62% 9,600, $:22,800, +:18,600, H:21,200 458 500 8,600, #:21,700, +£:17,500, H:20.200
AR BT % | 700 | 77% 12,300 458 .200 11,800
400 | 60% 00, % :19,200. B:20,100 458 300 200, H:19,000
400 | 54% [ A:20900, H:22,800 458 400 1,700
400 | 54% [ £:20900, H:22,800 458 400 1,700
KB (BHEE) =L (37 F 5%)| B (BHEE) & 700 62% ,200, B:17,100 458 700 16,100
700 81% [T H:11,800 458 500
200 82% 800 458 000
AR FTR R 200 82% 800 458 000
700 81% 800 458 500 111,300
L2506 18800 | 59% 458 17,700 200 H:19,000
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KIR (F73) =48R KR (BT | JL2051 9,300 62% 45871 | 9200 63%
[JL2053 14200 | 42% 458 400 | 46%
["JL2057 300 62% 458 200 63%
JL2061 300 62% 5,500, % H:15.700. 1:15,100 458 200 63%
®EFE | JL2050 300 62% | & 1:15,000 458 200 63%
["JL2056 300 62% | 216,300, T H:15,700 458 200 63%
["JL2058 300 62% | %:16,300, H:15.700 458 200 63%
JL2060 300 62% 11,400 458 200 63%
KR () = (BRR) | KR 5 | JL2081 21,000 | 45% |&1:22.800 458 000 | 48%
JL2087 9,700 75% 458 800 7%
e (BE) R [ _JL2084 9,700 75% 458 800 77%
JL2088 300 | 45% 23,300 458 300 | _47%
TEE=LIE BT wEFE | I35 200 | 68% |%:24,100, T:25000, H:23,400 458 000 | 72%
JL35 800 | 69% |%:18200. B:18900 458 000 | 76%
R FRTR) R [ L35 800 | 69% | +:18.200. B:18900 458 000 | 76%
35 200 | 68% | H:23,400, H:25000 458 000 | 72%
BF(HE)=%5 HR(FE) R L565 ,900 57" £:22,600 458 700 59%
[ JL567 900 22,600 458 700 | 59%
569 900 22,600, B:20400 458 700 | 59%
ESTES L562 900 4,700 458 700 | 59%
[ JL564 900 4,700 458 700 | 59%
566 900 9,000, H:24,700 458 700 | 59%
HRCHE) =)l R (AE) R L551 400 | 56% f:21.900, H:18,500 458 600 | 58%
[ JL553 000 | 55% [%+:23,100 458 200 | 57%
[ JL555 300 | 59% 9,500, :19,000, H:20,400 458 500 | 60%
L557 300 | 59% [%:19,000, H:20,400 458 7500 | 60%
JCIES 562 100 | 55% 458 9300 | 56%
[JLs54 300 | 59% 21,800 458 7500 | 60%
[ JL556 300 | 59% |7K:20,200, :19.900, H:21,800 458 7500 | 60%
L558 700 | 53% |%:21,800, H:23,800 458 9900 | 55%
RR (AE) =g R (AE) R L 200 | 56% |#+:23800. B:18,700 458 8200 | 58%
L 700 | 67% |&1:22,200 458 7700 | 59%
L 200 | 58% |%:19,200, H:20,200 458 7.200
FIEE] L 200 | 58% |+ H:18,700 458 7.200
L 200 | 58% |&+ H:18,700 458 7.200
L 700 | 55% 23,700 458 700
RR (AE)=HE R (AE) R L 300 | 655% | % +:23,400 458 300 | 58%
L 300 | 55% |%+:20,300 458 300 | 58%
L 300 | 65% |%+:20,300 458 300 | 58%
L 300 | 55% |%:21500, H:23,500 458 300 | 58%
EY=3 L 300 | 65% | % +:23,400 458 300 | 58%
L 300 | 55% | &+ H:20,300 458 300 | 58%
L 300 | 55% |+ H:20,300 458 300 | 58%
L 300 | 55% |%:21500, H:23,500 458 300 | 58%
R (FH)=EE ER(FE)FE [_JL585 700 41% | +:24,500, H:19,500 458 .200 43%
[ JL587 000 | 46% |%:22,800, F:22.200, H:20,700 458 500 | 47% 2,300, +:21.700, H:20,200
L589 300 | 48% [%:21,800. H:22,800 458 800 | 49% 21,300, H:22.300
g% | JL584 1300 | 39% 458 800 | 41%
[ JL586 000 | 43% | +:18,000. H:24,800 458 500 | 45% | +:18,400, H:24.300
L588 500 | 45% [%:20,000, +:18,300. B:23,700 458 .000 | 46% |£:19,500, £:17.800, H:23.200
R (HE)=H& R CFE) % L141 300 58% 458 .800 59%
L143 800 | 56% 458 300 | 58%
L145 800 | 50% 458 300 | 61%
L147 200 | 58% |H:16,000 458 700 | 59% | H:15500
L 200 | 58% % E:16000 458 700 | 59% [#H:15500
L 800 | 59% [#H:15300 458 300 | 61% [#H:14800
BHR L 700 | 5% 458 300 | 61%
L 200 | 58% & ¥ H:15000 458 700 | 59% &+ H:14,500
L 200 | 58% &+ H:15000 458 700 | 59% &+ H:14,500
L 700 | 5% +14,300 458 300 | 61%
L 300 | 58% 114,800 458 800 | 59% [# 14600
L 700 | 5% 458 300 | 61%
HFE(FHE) 5 L 500 53% 458 500 56%
L 500 | 53% 458 500 | 56%
L 500 | 53% 458 500 | 56%
L 500 | 53% 458 500 | 56% |
L 500 | 53% 458 500 | 56% 5500
L 500 | 53% 458 500 | 56% 5,500
R (A HE R (GAH) 5 L 9,600 65% 458 9,500 66% 4500
L 400 | 37% 458 900 | 39% [#+:17500
L 200 | 45% 458 700 | 47% | +:15,100. H:16,900
L 700 | 39% 458 200 | 4i% N
FRER L 500 | 37% 458 000 | 38%
L 500 | 40% 7,500, B:18,000 458 000 | 42% 7.000, H:17,400
L 500 | 37% 8,900, F:15,400, H:18,500 458 000 | 38% 8400, +:14900, H:18,000
L 500 | 37% & 5:9,600, £:15400 458 000 | 38% & H:9,600, 1:14,900
FR ()= R CFE) % L 9,600 49% 458 .700 53%
L17 10,800 | 42% 458 700 48%
[ L17 10,800 | 42% 458 700 48%
LI78 9,600 49% | 458 700 53%
R CHE) =/ ML HER(HE) % [_JLi183 9,600 61% 1,200, H:10,200 458 500 61% 1,100, H:10,100
[ L85 11,000 | 54% 458 11,100 | 55% |+:12,300
L187 10,100 | 59% 458 10000 | 59% £ H:10,100
[ L8y 9,600 6% ¥ p 458 9,500 61% [+:10,100, H:11,100
191 9,600 6% 0,200, B:11,200 458 9,500 61% 0,100, B:11,100
L193 10100 | 59% 111,200, £:10,200 458 10000 | 59% 11,100, £:10,100
AT L182 10,100 | 59% % 5:10.200, £:11,200 458 10000 | 59% /K& H:10,100, £:11.100
184 9,600 61% 1,200, B:10.200 458 9,500 61% 1,100, H:10,100
[ JULi86 10,100 | 59% +10,200 458 10000 | 59% 10,100
[JLiss 10200 | 59% 0,600, % B:11,200 458 10100 | 59% |A:10500, £ H:11.100
190 11,000 | 54% 2,200, % B:12.400 458 11,100 | 55% 100, % H:12,300
L192 9,600 61% 111,200, £:10,200 458 9,500 61% 100, £:10,100
HR(PH)=-AmRAE BRE(HA)F L2 300 4T% 8,300 458 ,300 59% 300, +:17,300
L2 ,900 42% £:19,900 458 ,300 59% [7A:17.800, % +:18,800
L2 800 | 48% 17,800 458 300 | 59%
BICEER L2 ,300 50% 458 ,300 50%
L2 800 | 45% 8,300 458 300 | 59%
L2 900 | 42% 119,900 458 300 | 59%
HRCHA) =/ BR(HA)F L2 ,100 61% 4,300, H:13,600 458 ,600 63%
L2 000 | 64% 458 500 | 66%
L2 000 | 64% 458 500 | 66%
L2 300 | 58% [+ 458 800 | 5%
L2 800 | 53% X 458 300 | 55%
[GATES L2 000 64% 3,100 458 .500 66% E:1
L2 000 | 55% 3,200, H:12,600 458 500 | 57% 2,700, H:12,100
L2 000 | 64% %+ H:12,800 458 500 | 66% [#+ H:12300
L2 